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I (a) Explain JGBT and discuss its characteristics with (5/0 ’

Recessarv ({lJlL’]'IiIH.“

(b)  Explain operation of TRIAC and its (co

ntrol strategies

PSR,

(c) The gate current of a forward biased S(

increased from zero until the device in

15 observed that gate current just prior

‘R 1s gradually 6 JCﬂJ

turned on. It

to the instant

of turn ON, is 1| mA and soon after SCR goes into

-

conduction, gate current decays to about 0.3 mA

Discuss how 1t happens.

1§

thyristors. Explain each in brief

(h) ((:i)\"> Compare an |l’lmm

firing_cueuit.
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R and RC 3
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A unijunction transistor used in relaxation
oscillator has the following data : '

1=0.67, I, =10mA, Vy =2.5V, Ip =16 pA .
An oscﬂlator with an oscillator frequency of 1 Khz

is to be designed by this UJT. Compute the values

1608y ' of charging resistor and external resistors needed[R

\\/BE ‘\‘/f |

in the base circuits. Take C=04pF, Forward- o

| 22 \0.0
'FL\/BB j voltage drop of E-B, junction as 05 V source == AE
\\()\‘T“-‘ & voltage is 24 V dc and t we w1dth is Sa8
= 6212150 ~ —
S v [ —_ \ |
O K& 20nsec 7 ‘Rm"‘ m
|
Vg = loak Movork (R\f&WBB) LI o : | :‘%ﬁg e
ﬂ.z (a) Explain dynﬂax}u.c 9}:a;agfce1jlstlcs of thyristor and it's '©8™
significance in power electronics circuits.
M Discuss the conditions which must be satisfied for 4 \\\\\L/
turning ON an SCR with a gate signal. i
N
-’@) Explain the concept of voltage and current 4 ?\\\\
commutation of thyristor.
2-9 F@Mf 4l IO
3 (a) Explain the operation of three phase ha f controlled 10
§ e bridge converter with associated waveforms.
-
(h) Explain the effect 0{( oad)on the performance 6}
~of single phase full F’””ﬁul le ter.,
\/ g\ﬂ(x> of single phase fu y Lontxo ed bridge converter.
OR
3 (ﬂ) Explain the three phase fully controlled bridge 10 (\5
converter with R-L, load with the help of ,necessary
diagrams and waveforms.
o
| — N
i (ty  Explain effect of Source impedance on performance ;/Gj?f*n
of single phase fully controlled bridge converter.
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4 /}/ Explain \tyReE choppey W
, weh (-9 3

599)/Explain\ load commutated chopper | with its voltage
e ~04¢ comimuts

‘)

L

al

and current \VHVOfOl‘IIlS.

Explain the single phase full bridge inverter

connected to RL load.

What .s /{Il()(llllzll‘l()ll indexpfor an inverter ? Kxplain

the multi pulse modulation technique to show how

it can be used for voltage contrel _and harmonic

educt
I(v'_l_l:l/__ﬂl‘.

OR
(/*)xpl;xjn with the help of appropriate waveform the

(

(c)
(d)

(h)

working of a three phase bridee DT\\'(‘I'((’)' for 180°

E 1 e \
conduction mode. Compare 1t with 120° mode of
concluding.

Why voltage control is required in Inverters ? Discuss
briefly different methods of voltage control for 1- @

o A o g e

Inverters.

ol \'\'\' A8 M
Whrite short notes on (any two) &\ —> Py

(a)

speed control of DC drives usine wingle phase full

bridee converter.

Schemes for induction motor speed control, -
Over \'()l(zlge protection for thyristors

Over current protection for thyristors
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